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Bcero, B TOM 4HeIe: 739,7 100,0 51,5 43,8 0,0 0.0 43,8 0,0 0,0 43,8 0,0 0,0
1 Taraypos .M. 66,40 9.0 0.0 0,0 0.0
2 NoGaroe A.B. 55,20 715 7.5 7.5 1.5 1.5
3 [Kyaawes PO 65,20 %8 8.8 88 5.8 8.8
4 WaBawoe P.T. 55,60 7.5 0.0 0.0 0.0
5 [KouM 6500 ss 0.0 0.0 0.0
6 MokopHbix B.B. 55,40 75 7.5 7.5 1.5 7.3
7 OpanuwHukosa H.A. 69,80 9.4 0.0 0.0 0.0
g |Kapnoe LA 55,50 7.5 1.5 75 75 7.3
g9 |[PecuHaCl. 69,60 9.4 0.0 0.0 0.0
10 |[Sprawesa 3.P. 24300 33 3.3 3.3 33 3.3
10A [Measenesa 11.10 32,50 44 0.0 0.0 0.0
11 |Awasx AU 68,40 92 9.2 9.2 9,2 9,2
12 |Kycrosa I L. 56,80 79 7.7
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